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1. 'H and 3C NMR spectra
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2. HPLC data

OH
@]

ﬂf\g—(
21a P~ S Ph

With catalyst 13

g g
] NN S R
Peak# Ret. Time Area Height Area%
1 38.273 2004875 15564 48.334
43.69 2143115 14653 51.666
Total 4147989 30218 100
With catalyst 25
1: g ’/‘?\\\
Peak# Ret. Time Area Height Area%
1 37.25 478894 3866 23.15
42.231 1589788 10369 76.85
Total 2068682 14235 100
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With catalyst 26

Ret. Time

1806748

3490995

Total

5297743

With catalyst 27

Ret. Time

Area%

37.734

845452

25.044

42.962

2530477

74.956

Total

3375929

100
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